Series &RQPS
U9-9 hIS
Q.P. Code 98
e =1, giteqreff S-19 Sig I IT-GEdehT
Roll No. @98 W Y cl

Candidates must write the Q.P. Code
on the title page of the answer-book.

o PUYAT MG IR ¢ b 59 UeT-Ux H Hfgd g3 27 3 |

o PHUIT AT R ¢ b A UeeT-Ux H 34 U § |

o ULT-UN H Glfgel &Y &I 3R feU 50 Ueei-ud @is &1 wWigneff sR-gfeds
P FH-T8 R ford |

o HUAT UL FT IR o1&l YH Bt A Ugd, SR-YFIST H US &1 HHAS 3G
forst |

e ST UFBT-UN Bl Ugsl P v 15 fele &1 77 feam s 8 | u9el-ux &7
fcRor gafg # 10.15 o fsar SMesm | 10.15 §o1 & 10.30 & I BT

FacT UeT-UF @I ugs 3R 57 & F R 3 IIR-YRRIBT TR BE IR
oTgl foradar |

e Please check that this question paper contains 27 printed pages.

e Please check that this question paper contains 34 questions.

e Q.P. Code given on the right hand side of the question paper should be written
on the title page of the answer-book by the candidate.

e Please write down the serial number of the question in the answer-book
before attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on the
answer-book during this period.

OkeA0| I T
(FgTi=r) L

E#%s  ENTREPRENEURSHIP (Theory)

Reiia a7 : 3 sv2 SfeHaTHT 37 : 70
Time allowed : 3 hours Maximum Marks : 70
98-1 Page 1 P.T.O.

Get More Learning Materials Here : & m @&\ www.studentbro.in



T 7597 :

[Efcf@a 7391 @1 &9 @ 9leq 37k 37T iei7 Hifaa |

(i) 3G ¥97-97 434 357 & | @4t go7 srfAard & |

(i) I8 Y¥7-97 &R GUs] 7 [q97f5a 13637 7377 8 - @ &, &, T T & |

(iii) @UE & : Fo7 G&I1 1 & 18 T%F Fglascdid YR & o7 & | I4% Jo7 1 3%
HE

(iv) TV & : ¥97 &I 19 T 24 % TG-F70T FHR-I & 97 & | F9% T
2 37H] FT 3 | J9F Y97 7T 3T 30 T 40 3155 7 1715 |

(v) @UE T : T &I 25 T 29 dF TY-IFTT YHERII F FoT § | FAB T
3 37H] BT 8 | FedP J97 BT IR 50 T 70 3153 7 17157 |

(vi) WU T : 97 &7 30 T 34 TF JH-ITT JPR & 97 5 | I9FH Fo
5 37%] &7 & | Y% I &7 I 120 T 150 31551 H f7iEw |

(vii) ¥o7-99 H GHT fabeq 787 a1 77 8 | JEfe, @ @, T 797 7 § k%
faeq &7 FIaerT 1797 79T & | wiendf & 57 yoA 4 @ fHdl v yIT T I
fer@ar & |

Qusg <h

1.  HoR A 9@ % G189 H Tehides Ta 9 o 9T Sl 3o AT H S&1g Bld §C
@ 2 | Bohehel SRR S & &1¢ et 3 Teh YR W 0 AT TN
foren 5@ offtra ot it 2ZfoRai @ wenfud fokam STom, S SRET@ o W Wl
T HUT, I STHGT qAT I 6 Teh AN G199 1 o AT | I8
ST Toh YTET AR TR 36 IYh0T T G HiAT IRH L A1 | 98 G oA
Hifch g7 3194 fo=IR =l arEdafrehdl # qiEfdd & § 9% &l T |

39 fo=mR &4 i 9gaT-T, {584 39 Ic1g o Taehi™ | 39 =G5 YgH i : 1
(A) TER-AfId fo=R
(B) Wi HETeq
(C) Har-HaH fo=m
(D) YSHTcHS T
98-1 Page 2

Get More Learning Materials Here : & m @&\ www.studentbro.in



General Instructions :

Read the following instructions carefully and follow them :

(i) This question paper contains 34 questions. All questions are compulsory.

(it)  This question paper is divided into four sections — Section A, B, C and D.

(iti) Section A : Questions number 1 to 18 are Multiple Choice Type
Questions. Each question carries 1 mark.

(iv) Section B : Questions number 19 to 24 are Short Answer type-I
questions. Each question carries 2 marks. Write answer to each question
in 30 to 40 words.

(v)  Section C : Questions number 25 to 29 are Short Answer type-II
questions. Each question carries 3 marks. Write answer to each question
in 50 to 70 words.

(vi) Section D : Questions number 30 to 34 are Long Answer type questions.
Each question carries 5 marks. Write answer to each question in 120 to
150 words.

(vii) There is no overall choice. However, an internal choice has been provided
in Section B, C and D of question paper. A candidate has to attempt only
one of the alternatives in such questions.

SECTION A

1. During the rainy season, Subir observed that a large quantity of natural
and free water was being wasted. Being a mechanical engineer, Subir
started to work on a device that was to be installed in underground water
tanks, for collecting the rain water, freezing it and creating a surplus
water resource. He prepared a prototype and started the trials on this
device. He was happy that he succeded in converting his idea into reality.

Identify the idea field that provided him an insight for developing the
product : 1
(A)  Market-driven idea

(B) Natural resource

(C)  Service-related idea

(D)  Creative efforts
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2. Which of the following is not a component of ‘Brand’ ? 1
(A) Brand name
(B) Brand mark
(C) Trade mark
(D) Tagline

3. ‘Anarya Ltd.’, a company manufacturing cars wants to enter into e-car
business in the next few months. For this it needs additional funds. To
speed up financing it decides to sell some of its shares to institutional
investors. The company also does not wish to disclose this information in
the open market.

From the following, identify the method of floatation of new issues used

by the company : 1
(A)  Public issue

(B) Rights issue

(C)  Private placement

(D)  Offer to employees

4, ‘Nipro Electronics’ was the leading player in the electronics industry for
the last fifteen years. A few years back, ‘Mobe Electronics’, a smaller
company as compared to ‘Nipro Electronics’ entered the market. ‘Nipro
Electronics’ started losing its market share to ‘Mobe Electronics’
day-by-day due to its innovative products.
To maintain or develop a competitive edge and to upgrade its technology,
‘Nipro Electronics’ decided to acquire ‘Mobe Electronics’ under friendly
terms but that failed. Now it decided to buy majority shares of ‘Mobe
Electronics’ and hence initiated the acquisition.
From the following, identify the type of acquisition which ‘Nipro
Electronics’ adopted after failing on friendly terms : 1
(A)  Friendly acquisition
(B)  Hostile acquisition
(C)  Reverse acquisition
(D)  Back-flip acquisition
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& AT 737 7 |

(C)  2ATHYT (A) HET &, Afehd SR (R) T4 7 |

(D) 3R (A) Ted B, Afehd SR (R) 921 B |

98-1 Page 6

Get More Learning Materials Here : & m @&\ www.studentbro.in



5. Selection of a product or service will depend upon many factors while
assessing the market. The demand assessment is one of them. This

assessment is based on : 1
(A)  Technological advancements in the field

(B)  Size of the market being targeted

(C) Transportation delays, wastage etc.

(D)  Level of operation

6. Assertion (A) : Mergers and Acquisitions is a potential strategy for

ensuring the accelerated growth of business.

Reason (R):  Growing through Mergers and Acquisitions usually turns
out to be less expensive as compared with internal
expansion, particularly when the replacement cost of
asset in higher than the market value of the targeted

assets.
Choose the correct option from the following : 1

(A) Both Assertion (A) and Reason (R) are correct and Reason (R) is

the correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are correct, but Reason (R) is

not the correct explanation of Assertion (A).
(C)  Assertion (A) is correct, but Reason (R) is incorrect.

(D)  Assertion (A) is incorrect, but Reason (R) is correct.
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7. Raghuram has been appointed as the stock incharge in a readymade
shirt manufacturing company. The Production Manager asks Raghuram
to ensure the availability of fabric without any interruption so that there
is no stock-out situation. For this Raghuram wants to know the re-order
point of fabric for the company, that is to determine when to place an
order. For this he found out the procurement lead time, which is
2 months, and the demand during this period, which is expected to be
300 bales of cotton fabric per month. So the order should be placed when
the stock reaches : 1

(A) 600 bales
(B) 450 bales
(C) 300 bales
(D) 150 bales

8. Assertion (A) : Sales promotion relates to short-term incentives or
activities that encourage the purchase or sale of products

or services.

Reason (R): Sales promotion helps to create awareness about the

companies’ products.
Choose the correct option from the following : 1

(A) Both Assertion (A) and Reason (R) are correct and Reason (R) is

the correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are correct, but Reason (R) is

not the correct explanation of Assertion (A).
(C) Assertion (A) is correct, but Reason (R) is incorrect.

(D)  Assertion (A) is incorrect, but Reason (R) is correct.
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9. Choose the correct formula from the following for calculating ‘Gross
Working Capital’ : 1
(A)  Gross Working Capital = Cash + Accounts Receivable + Fixed
Assets + Other Current Assets
(B)  Gross Working Capital = Cash + Accounts Payable + Inventory

+ Other Current Assets
Cash + Accounts Receivable +

(C)  Gross Working Capital
Inventory + Other Current Assets

(D)  Gross Working Capital Cash + Accounts Receivable +

Inventory + Long Term Liabilities

10. Financial plan is a projection of key financial data about : 1
L. Economic feasibility of the enterprise.
I1. Orderly movement of goods.

III. Market opportunities and threats.

IV.  The potential investment commitment needed for the new venture.
Choose the correct option from the following :

(A) Tonly (B) TIandIV

(C) LIIandIV (D) II, III and IV

11. Assertion (A) : Public issue is the most popular method of raising capital
these days by the entrepreneurs.

Reason (R): The capital does not have to be repaid and does not
involve an interest charge.

Choose the correct option from the following : 1
(A) Assertion (A) is correct, but Reason (R) is incorrect.
(B)  Assertion (A) is incorrect, but Reason (R) is correct.

(C) Both Assertion (A) and Reason (R) are correct and Reason (R) is
the correct explanation of Assertion (A).

(D) Both Assertion (A) and Reason (R) are correct, but Reason (R) is
not the correct explanation of Assertion (A).

98-1 Page 11 P.T.O.

Get More Learning Materials Here : & m @&\ www.studentbro.in



12. T HE TH Uia HAW Bed g | =1 @I, Ichte AT qAT 3T Hari
I YGH P < STEg Ht Ig T HAY T [T A g I THET T FHEAT B
W@ 2 | B & &I RSN it 3 fIuvE yeraesh @ giead § AU 6 7
I FgH & foru gerg gift | foque yaeass 3 gema fean fo &4 fea 9 < i &
Uehal <hl FfehTT oh AT, BICA HH A1 o &A1Y Teh e o qod U Hio shi ot

YU L qAT T B A9 UTEh! bl Uh HEH H Uk faq & fou fopeft s

e % gud @ 61 glaan g |

foqUH Jeryeh g TS TS Yaaq WiHITd A& J&dd g 1
(A) Utk IW (B) Uk o =

(C) dfth & mem A (D) 39h H | g A8l

13. ‘o fafiee’ s wd=nfEl =1 i =1 [Jocd e[ wtar & | I8 sH=na
1 BT oh YT /AR a9 & I ST 8 U I= 3= caqdl e =

S 3T <hl 3T TR HLdT 3 |

Taferm fafiee’ gro =3 wfayfaai o Jarg 61 5@ fafy &1 & e =, ag g 0 1
(A) eSS (B)  3Afoehift T

(©) fasht formem /fafrm (D) ST & T

14. fefd 3 %A feomsfim & v wftg 9e9m @ Gwararqdes AU TgTE i I R |
3§ 98 YNA @ Jardl @ fou feoimsR wuet ¥ fafsmear uma e 3cuted s618
T i 6T TTPP 8 | SHh ThaTdT o folU, IHF TR-GR 794 Afqd UTgehi
0 o fohU ST gt T W ST IRy R e | Ay € 9 T STl
I @i ol qer HIE M T AlRT ®Y T UW A9 ot | I S HT 3L
TR ¥ IR GO9S U T a9l I8 gHvea e g fo ffta fesmem
FUg, Taferd HH Yl o TUEY 8 |

MG g Yl 1 91 T i fofYr sl qg=mg 1
(A) I TG (B) Sm@-=d Sg
() T ygM (D) F=-far ygf

98-1 Page 12

Get More Learning Materials Here : & m»/ @&\ www.studentbro.in



12. Even after providing good food, excellent hospitality and other services,
‘The Concept’, a five star hotel, is facing problem of low demand for its
rooms. To increase demand of the rooms in the hotel the Chief Executive
Officer of the hotel called the Marketing Manager for advice. The
Marketing Manager suggested that with a booking for three days and
two nights package the hotel should announce an offer to provide free
dinner along with complimentary breakfast for one day, as well as a free
stay for one day at a good resort for its clients within a month.

The promotion strategy or approach suggested by the Marketing
Manager is :

(A)  Above the line (B) Below the line
(C)  Through the line (D) None of the above

13. “Vision Ltd.’ offers stock options to its employees. This enables employees
to become shareholders of the company leading to higher efficiency and

lower labour turnover.

The method of floatation of new issues being used by ‘Vision Ltd.’ is :
(A)  Public issue (B)  Rights issue
(C)  Private placement (D)  Offer to employees

14.  Aditi successfully completed her studies at a famous institute of fashion
designing. She is now eager to establish a manufacturing unit
specialising in designer clothes for the youth in India. To achieve this,
she started going to locations frequently visited by her target customers.
Additionally, she has begun exploring local markets and actively
participating in fashion shows. These efforts aimed at gaining a deeper
understanding of the market and ensuring that the manufactured
designer clothes are in sync with the prevailing fashion trends.

Identify the way in which Aditi is spotting trends :

(A) Read trends (B) Talk trends
(C) Watch trends (D) Think trends
98-1 Page 13 P.T.O.
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15. Samarya owned an airline business with a fleet of 20 aircraft operating
between Nairo and Piere. She wanted to expand the business to other
parts of the country. She was concerned about the rising oil prices which
would impact the costs as well as the sensitivity of the airline revenues to
fluctuations in business traffic.

Identify the factor affecting the macro environment under PESTEL

model : 1
(A) Political (B) Economic
(C)  Social (D)  Technological

16. Sarita got admission in Nadir Engineering College. After two to three
months, she observed that the students of the college were facing
problems in washing and ironing of clothes due to shortage of time.
Sarita sensed the opportunity, analysed it and synthesised it to identify
an opening. She suggested to her cousin, Hitesh to start a laundry service
for hostel students. Soon, this service became popular, not only among
the hostel students, but also among the nearby residents.

‘Ability to perceive and preserve basic ideas which could be used
commercially’ was the factor involved in sensing this opportunity. The

source which led to the emergence of this basic idea was : 1
(A)  Problem (B) Invention
(C) Innovation (D) Competition

17. ‘Air-Puro Ltd. is engaged in manufacturing and distribution of
air-purifiers. The company has four departments — Production,
Marketing, Finance and Human Resource. The quality of the air-purifiers
is very good and these are handy also. Due to this the demand of
air-purifiers started growing. To meet the growing demand, the
Production Head informed the Chief Executive Officer to recruit more
employees.

The component of Business Plan which will help in deciding the number

of people required is : 1
(A) Marketing Plan (B)  Production Plan
(C) Organisational Plan (D) Manpower Plan
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18. Manoj, Ankit and Nikhil are good friends and doing interior designing
business at a small-scale. Their business is taking off in a big way.
Now there is a need to change their small-scale-business into a
large-scale-business. The trio needs more capital to invest, to hire more
employees and for other expenses. Due to the growing need they decided
to re-organise their form of business. Now they wanted to have an
organisation in which members have a limited liability and minimum
paid-up capital is Rupees one lakh.

The type of organisation the trio wanted to form is : 1
(A) Partnership (B)  Public company
(C)  Private company (D)  Sole proprietorship
SECTION B
19. (a) State the elements in the innovation process. 2
OR

(b) Give the meaning of ‘Problem Identification’. With the help of any
two points, state how problem identification helps the
entrepreneur. 2

20. Ariha loves eating good food and for that she generally visits famous
restaurants. She is very fond of Kheer and after eating food she requests
for Kheer as a dessert. Quite frequently she discovered that Kheer was
not available in many restaurants. So she decided to make instant
Kheer-mix in various flavours like Mango, Kesar-Elaichi, Malai-Rabri
etc. and started selling these in the neighbourhood. The Kheer-mixes
became popular in the neighbourhood, as they were easy to make and
had a good taste. Now one of her friends suggested that she should
consider selling the Kheer-mixes to the retailers and also to the
restaurants directly. To achieve this she had to keep a distinctive name
to distinguish her Kheer-mixes from that of the competitors, if any.

(a) Identify and explain the component of product mix discussed in the
above case.

(b)  Also identify and explain the term through which the name given
by her to the product can get legal protection. 2
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21. Recognising the opportunity in the women’s hair care, Prabhav conceived
an idea to manufacture a multi-functional three-in-one machine for hair
i.e., hair dryer cum curler cum hair iron. He felt that it would be
comfortable to carry one machine instead of three. On the basis of this
idea, interest and curiosity, the need was adjudged and he started
looking for an answer to implement the idea. He then conducted a market
research to foresee the future of this multifunctional three-in-one
machine, hair dryer cum hair curler cum hair iron. The idea was
considered very strong and he decided to go ahead.

Identify and state the steps in the creative process which were fulfilled by
Prabhav. Also state the two steps to be followed by Prabhav in the
creative process. 2

22. (a) Explain the advantages a franchisor gains through franchising
which are related to ‘expansion risk’ and ‘cost advantages’ that

result from extensive buying power. 2
OR
(b) Explain ‘Number of buyers’ and “T'ypes of buyers’ as considerations
related to market while selecting a channel of distribution. 2

23. (a) What is a ‘Business Plan’ ? State any two points why ‘Business

Plans’ are considered as decision-making tools. 2
OR
(b) Explain ‘Ability to harness different sources of information’ and
‘Vision and Creativity’ factors involved in sensing opportunities. 2

24. A Beauty parlour had varying number of customers during five weeks.

From the given information, calculate ‘Unit Price’ per customer. 2
Number of Average Amount billed
Weeks Customers per customer (in <)
1 20 200
2 34 170
3 26 142
4 44 462
5 36 350
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SECTION C

25. ‘Aircon Ltd.” manufactures and sells desert coolers with various unique
features. There is no competitor of ‘Aircon Ltd.” in the market. So they
decided to sell these at a high price. Inspite of having unique features its
sale was not picking up. They tried to find out the reason for this. After
market research they found that to raise their market-share, they have to
revise their pricing method. The company decides to adopt a pricing
method based on manufacturing estimates which should cover the cost of

producing the coolers plus a reasonable profit.
(a)  Identify the pricing method ‘Aircon Ltd.” decides to adopt.

(b)  State one advantage and one disadvantage of this pricing method. 3

26. (a) Explain the following elements of an operational plan : 3
(i)  Scheduling
(ii)) Follow-up
(iii) Inspection
OR

(b)  One of the important methods for generating ideas is to carry out a

‘Market Research’.
(i)  What is meant by ‘Market Research’ ?

(ii) Explain how market research helps an entrepreneur for
generating ‘Market-driven or Demand-driven ideas’ as a

source of idea field. 3
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27. ‘GRX Ltd.” has marked its presence for its ‘Apple Cider Vinegar’ on
different social media platforms like Facebook, Instagram etc. by
demonstrating features and benefits not available with the competitors’

products without mentioning their names.
(a) Identify the type of sales strategy adopted by ‘GRX Ltd.’

(b) Name and state the other type of sales strategy available with the
businesses.

(c) List any two points of consideration required for creating an
effective sales strategy. 3

28. ‘Mitsu Electronics Ltd.” was operating its business of electronic items in
India. The Prime Minister announced relaxation in export duties on
electronic items and the company started exporting its products to
neighbouring countries. The company developed a better and cheaper
video conferencing system to solve the problem, if any, and to replenish
the stocks wherever and whenever needed. The demand for its electronic
items started increasing day-by-day as there is an increase in the level of

education and consumerism globally.

Quoting the lines from the above para, identify and explain any three

dimensions of Business Environment. 3

29. (a) Explain the following three stages in a company’s development

when an entrepreneur can seek venture capital : 3
(i)  Seed capital finance
(i1) Start-up finance

(iii) Second round-financing

OR
(b) Who are called ‘Angel Investors’ ? Explain any five features of
Angel Investors. 3
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SECTION D

30. (a) What is meant by ‘advertising’ ? State the any four rules to be
considered while planning any advertising activity and the any four

responses for developing effective advertising. 5

OR

(b)  Give the meaning of ‘Franchise Agreement’. Explain the four main

ingredients of a ‘Franchise Agreement’. 5

31. What is meant by ‘Primary Market’ ? Explain the four methods used by

an entrepreneur to raise the required capital in the Primary Market. 5

32. (a) Give the meaning of ‘Company’ form of business organisation.

Explain the following features of a company : 5
(i)  Seperate Legal Entity

(i1) Limited Liability

(iii) Transferability of Shares

(iv) Diffusion of Ownership and Management

OR

(b)  ‘Sensitivity to environmental factors is crucial for an entrepreneur.’
In the light of this statement, explain any five benefits of

understanding the relevant environment of business. 5
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33. ‘Happy Hands Ltd.” manufactures liquid hand wash for children with

minimal chemicals. They have three varieties of liquid soap. The fixed

cost for the production process is ¥ 2,49,000.

Variet Scrub Hand Gel Hand Foam Hand
Y Wash Wash Wash
Selling Price per
100 ml in (%) 155 175 195
Variable Cost per
10 ml in (%) & 99 105
Sales Mix 40% 30% 30%
Form the above data, calculate the following : 5

(a)  Total weighted average contribution margin.
(b)  Break-even-quantity for each variety of liquid hand wash.

(c) Break-even-point in rupees for Scrub Hand Wash.

34. Aneesh, a young entrepreneur, wishes to take his family business of
designer fabrics to greater heights with the knowledge he has acquired at
‘National Institute of Fabric Development’. His father gave him I 25
lakh as a seed capital to start his own new product line under the family
business.

Aneesh is venturing into leather and faux leather for which he needs to
plan his business before he goes ahead with the execution. He knows that
transformation of raw material into finished products takes place with
the help of energy, capital, manpower and machinery. Further, he
realised that manufacturing operations are highly complex and tedious,
hence need to well planned.

(a) Identify the component of business plan Aneesh is discussing

about. Also state its objective.

(b)  Explain the three different options available before the venture. 5
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Marking Scheme
Strictly Confidential
(For Internal and Restricted use only)
Senior School Certificate Examination,2024
SUBJECT NAME ENTREPRENEURSH | P(066)(Q.P. CODE 98)

General Instructions: -

1 |You are aware that evaluation is the most important process in the actual and correct assessment of the
candidates. A small mistake in evaluation may lead to serious problems which may affect the future of the
candidates, education system and teaching profession. To avoid mistakes, it is requested that beforg
starting evaluation, you must read and understand the spot eval uation guidelines carefully.

2 [“Evaluation policy is a confidential policy as it is related to the confidentiality of the examinations
conducted, Evaluation done and several other aspects. Its’ leakage to public in any manner could
lead to derailment of the examination system and affect the life and future of millions of candidates.
Sharing this policy/document to anyone, publishing in any magazine and printing in News
Paper/Website etc may invite action under various rules of the Board and IPC.”
3 |Evaluation is to be done as per instructions provided in the Marking Scheme. It should not be done
according to one’s own interpretation or any other consideration. Marking Scheme should be strictly,
adhered to and religioudy followed. However, while evaluating, answers which are based on latest
information or knowledge and/or are innovative, they may be assessed for their correctnesy
otherwise and due marks be awarded to them. In class-X, while evaluating two competency-based
questions, please try to under stand given answer and even if reply is not from marking scheme but
correct competency isenumerated by the candidate, due marks should be awar ded.

4 [The Marking scheme carries only suggested value points for the answers

These are in the nature of Guidelines only and do not constitute the complete answer. The students can
have their own expression and if the expression is correct, the due marks should be awarded accordingly.
5 [The Head-Examiner must go through the first five answer books evaluated by each evaluator on the first
day, to ensure that evaluation has been carried out as per the instructions given in the Marking Scheme. If
there is any variation, the same should be zero after delibration and discussion. The remaining answey|
books meant for evaluation shall be given only after ensuring that there is no significant variation in the
marking of individual evaluators.

6 |[Evaluators will mark( v ) wherever answer is correct. For wrong answer CROSS “X” be marked.
Evaluators will not put right (v )while evaluating which gives an impression that answer is correct and ng
marks are awarded. Thisis most common mistake which evaluator s are committing.

7 |[If a question has parts, please award marks on the right-hand side for each part. Marks awarded for,
different parts of the question should then be totaled up and written in the left-hand margin and encircled.
This may be followed dtrictly.

8 |If aquestion does not have any parts, marks must be awarded in the left-hand margin and encircled. Thig
may also be followed strictly.
O |If a student has attempted an extra question, answer of the question deserving more marks should be
retained and the other answer scored out with a note “Extra Question”.

10 [No marks to be deducted for the cumulative effect of an error. It should be penalized only once.
11 |A full scale of marks 70 has to be used. Please do not hesitate to award full marks if the answer deserves
it.
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12 [Every examiner has to necessarily do evaluation work for full working hoursi.e., 8 hours every day and
evaluate 20 answer books per day in main subjects and 25 answer books per day in other subjects (Detailg
are given in Spot Guidelines). Thisisin view of the reduced syllabus and number of questionsin question

paper.
13 [Ensure that you do not make the following common types of errors committed by the Examiner in the
past:-
) Leaving answer or part thereof unassessed in an answer book.
° Giving more marks for an answer than assigned to it.
° Wrong totaling of marks awarded on an answer.
° Wrong transfer of marks from the inside pages of the answer book to the title page.
° Wrong question wise totaling on the title page.
° Wrong totaling of marks of the two columns on the title page.
° Wrong grand total.
° Marks in words and figures not tallying/not same.
) Wrong transfer of marks from the answer book to online award list.
) Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is correctly|

and clearly indicated. It should merely be aline. Same iswith the X for incorrect answer.)

[ Half or a part of answer marked correct and the rest as wrong, but no marks awarded.
14 |While evaluating the answer books if the answer is found to be totally incorrect, it should be marked as
cross (X) and awarded zero (O)Marks.
15 |Any un assessed portion, non-carrying over of marks to the title page, or totaling error detected by the
candidate shall damage the prestige of all the personnel engaged in the evaluation work as also of the
Board. Hence, in order to uphold the prestige of all concerned, it is again reiterated that the instructions be
followed meticulously and judiciously.

16 [The Examiners should acquaint themselves with the guidelines given in the “Guidelines for spot
Evaluation” before starting the actual evaluation.

17 [Every Examiner shall also ensure that all the answers are evaluated, marks carried over to the title page,
correctly totaled and written in figures and words.

18 [The candidates are entitled to obtain photocopy of the Answer Book on request on payment of the
prescribed processing fee. All Examiners/Additional Head Examiners/Head Examiners are once again
reminded that they must ensure that evaluation is carried out strictly as per value points for each answer
as given in the Marking Scheme.
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Set 4

MARKING SCHEME
ENTREPRENEURSHIP

A. | Answers Marks
No.
1 | (B) Natura resources 1
2 (D) Tagline 1
3 | (C) Private placement 1
4 | (B) Hostile acquisition 1
5 | (B) Size of the market being targeted 1
6 | (A) Both Assertion (A) and Reason (R) are correct and Reason (R) is the correct 1
explanation of Assertion (A).
7 | (A) 600 Baes 1
8 | (C) Assertion (A) is correct, but Reason (R) isincorrect. 1
9 (C)Gross Working Capital = Cash + Accounts Receivable + Inventory + Other 1
Current Assets
10 | (B) land 1V 1
11 | (C) Both Assertion (A) and Reason (R) are correct and Reason (R) is the correct 1
explanation of Assertion (A).
12 | (B) Below theline 1
13 | (D) Offer to Employees 1
14 | (C) Watch trends 1
15 | (B) Economic 1
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16 | (A) Problem 1

17 | (D) Manpower Plan 1
18 | (C)Private company 1
Section B
19 | a. Analytical planning: Carefully identifying the product or service, it’s ¥ |2
features, design as well as the resources that will be needed. x 4

b. Resour ce or ganization: Obtaining the required resources, materials, =
technology, human or capital resources.

c. Implementation: Applying the resourcesin order to accomplish the plans
and delivering results.

d. Commercial application: The provision of value to customers, reward
employees, and satisfy the stake holders.

OR
A problem is aroadblock in a situation, something that sets up a conflict and 1 2

forces an entrepreneur to find a solution. When an entrepreneur identifies such a
road block, he/sheis said to have identified the problem.

Objectives of problem identification: Y%
a. It should clearly state the problem +
b. Identify target group facing the problem Yo
c. Find the market acceptability of the solution to the problem =
(Any two)
20 | (& The component of product mix is ‘Branding’. Y2 |2

Branding is a process, a tool, a strategy, an orientation whereby a name, asign | +
or a symbol, etc. is given to a product by the entrepreneur so as to differentiate | %2
his/her product from the rival products.

(b) Trade Mark Y%
Trade mark is abrand or part of abrand that is given legal protection against its | +
use by other firms. Yo

21 | Idea germination: Thisisthe seeding stage of anew idea. It isthe stagewhere |12 |2
the entrepreneur recognises that an opportunity exists. The idea germination +
takes place according to interest, curiosity of the entrepreneur according to Yo
which opportunity is explored and exploited to its best potential. Creativeidea |=1
germinates besides the interest, the need of a specific problem or area of study.

98 4

Get More Learning Materials Here : & m &N www.studentbro.in



Preparation: On the basis of the idea, interest and curiosity the need is
adjudged by the entrepreneur and he starts looking for the answer to implement
theidea. If theideaisto launch anew product or service then market research is
conducted. That happens because the seed of curiosity has taken the form of an
idea, which the entrepreneurs foresee the future of the product.

The next two stepsto be followed by Prabhav are:
Incubation: Thisisthe subconscious assimilation of information. Thisisthe

transition period. The entrepreneur starts thinking about theidea and it’s Y

implementation in his sub-conscious mind. +
Ya

[llumination: In this period of illumination the ideare-surfacesin arealistic =1

way and entrepreneur comes out with viable plan to give practical shape by
collecting raw-material, arranging funds, policy—making for the implementation
of idea

22 | (a) Advantages of franchisor 2
(Related to expansion risk) is Quick expansion
The most obvious advantage of franchising for an entrepreneur is that it allows | 1
the venture to expand quickly using little capital. This advantage is significant
when we reflect on the problems and issues that an entrepreneur faces in trying
to manage and grow a new venture. A franchisor can expand a business
nationally and even internationally by authorizing and selling franchises in
selected locations. The capital necessary for this expansion is much less than it
would be without franchising. The value of the franchise depends on the track
record of the franchisor and on the services offered to the entrepreneur or
franchisee.

Cost advantages 1
The mere size of a franchised company offers many advantages to the
franchisees. The franchisor can purchase supplies in large quantities, thus
achieving economies of scale that would not have been possible otherwise.
Many franchise businesses produce parts, accessories, packaging and raw
materials in large quantities, then in turn sell these to the franchisees. The
franchisee are usually required to purchase these items as part of the franchise
agreement and they usually benefit from lower prices.

OR

(b) Market considerations related to channels of distribution 2
1. Number of buyers 1
If the number of buyers is large then it is better to take the services of
middlemen for the distribution of the goods. On the contrary, the distribution
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should be done by the manufacturer directly if the number of buyersisless.
2. Typesof buyers 1
Buyers can be of two types. General Buyers and Industrial Buyers. If more
buyers of the product belong to general category then there can be more

middlemen. But in case of industrial buyers there can be fewer middiemen.

23 | (@ A business plan is comprehensively written down document prepared by | 1 2
the entrepreneur describing formally al the relevant external and internal
elements involved in starting a new venture.

Business plans are considered as decision making tools. Yo
1. Describing all necessary inputs for the enterprise. +
2. Explaining the mode of utilization of the resources. Yo

3. Detailing the strategies for the execution of the project.

4. Outlining the desired goals.

5. Assessing market sensitivity and the profitability of the venture.
(Any two points)

OR

(b)
(HAbility to harness different sources of information: Various sources like|1 |2
magazines, journals, books, seminars, trade shows, family members, customers,
friends, etc. help in getting information that results in evolution of basic ideas.
Bringing together the various sources of information and knowledge and
analysing it to the best possible extent helps in identification of the right
opportunity to start a new business.

(il)Vision and creativity: Creativity is innovating a solution and vision. The | 1
entrepreneur should be able to creatively identify an idea to generate a valuable
solution to a problem.

24 Week | Number of | Average Amount |[Total billed amount (in i/ztfolr
Customers | billed per Rs.) I\(l) a f
customer (in Rs.) 0.0
Custom
1 20 200 4,000 ers
+ Y for
2 34 170 5,780 Total
billed
> 2 142 3,692 amount
+ Y for
: “ o 20,328 For mul
5 36 350 12,600 a
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160 46,400 + Yz for

final
answer

Unit Price Per Customer = Total Billed Amount/ No. of Customer =2

= 46,400/160 = Rs. 290 per customer
Section C
25 | (a)Cost pluspricing method 1 3
(b)
Advantage of thismethod (Any one) 1

1.1t isthe simplest method to decide the price

2. It iseasier for the company to evaluate the reasons for escalations in expenses
and take corrective action immediately.

3. The company knows the exact amount of expenditure that has been incurred
therefore they can add profit accordingly and can achieve the desired revenue.

Disadvantage of thismethod (Any one)
1. This method does not take into account the future demand for a product | 1
which should be the base before deciding the price of a product.

2. It does not take into account the competitors actions and their effect on
pricing of the product, as in today’s competitive world, if one solely depends on
cost plus pricing, it can lead to failure of company’s product in the market.

3. It can result in the company overestimating the price of a product because this
method includes sunk cost and ignores opportunity cost.

26 | (i) Scheduling — It means fixation of time, day, date when each operationisto|1 |3
be commenced and completed. It is the determination of the time that should be
required to perform each operation.

(i) Follow-up — It relates to evaluation and appraisal of work performed and is| 1
helpful in detecting errorsin the work.

(iii) Inspection — It is the art of comparing materials, product or performance | 1
with established standards. This element helps the entrepreneur to set up
laboratories or evolve methods to ensure predetermined quality of
product/service.

OR

(WM arket-Research — Any organised effort to gather information about target | 1 3
markets or customers. It isavery important component of business strategy.
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(i)Market research helps an entrepreneur for generating Market driven or | 1+
demand driven ideasin any of the following ways - 1
a. by providing important information to identify and analyse the market need,
market size and competition.

b. It isakey factor to maintain competitiveness over competitors.

c. It aso includes socia and opinion research which leads to systematic
gathering and interpretation of information about individuals or organisations
using statistical and analytica methods to gain insight or support decision

making.
(Any Two)

27 |a Thesaesstrategy is— Indirect Sales 1 3
b. The other type of sales strategy is — Direct sales strategy Y%

In this strategy, sales people attack the competitors head on when talking to the | +
customer. They talk about each feature of the competitor’s product and compare | ¥2
it to theirs. The term ‘negative selling’ refers to the direct sales approach.

c. Effective sales strategy requires —

(1) market knowledge Y
(i)  awareness of competitors activities +
(ili)  awareness of current trends Yo
(iv)  detailed business anaysis
(Any Two)
28 |a Padlitical Environment - It includes government stability and trade|Y2 |3
regulations and overall political environment in the country +

Quote - ““The Prime Minister announced relaxation in export duties on | Y2
electronic items. ”

b. Technological Environment — It is influenced by government spending on | %2
research, new discoveries and development, government and industry focus | +
of technological effort, speed of technologica transfer and rate of | %2

obsol escence.
Quote - ““The company developed a better and cheaper video — conferencing
system ”

c. Social Environment — It includes population demographics, socia | %2
mobility, income distribution, lifestyle changes, attitude to work and leisure, | +
levels of education and consumerism. Yo
Quote - ““There is an increase in the level of education and consumerism
globally.””
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29 | (i) Seed-capital finance- It refers to the capital required by an entrepreneur for | 1 3
conducting research at pre-commercialization stage. During this stage the
entrepreneur has to convince the investor why his idea/product is worthwhile.
The investor will investigate into the technical and economical feasibility of the
idea.

(i) Start-up finance— Thisis a stage when a business plan is presented by the
entrepreneur to the venture capitalist firm and a management team is formed to
run the venture.

(iii) Second-round financing — At this stage we presume that the idea has been
transformed into a product and is being produced and sold. This is the first
encounter with the rest of the market, the competitors and attempt is to squeeze
in the market and get some market share from the competitors

OR

Angel Investorsare affluent individuals who provide capital for a business|% |3
start-up and early stage companies having a high-risk, high-return matrix
usually in exchange for convertible debt or ownership equity.

Features
(i) Most angel investors are current or retired executives, business owners or | %2
high net worth individuals having knowledge, expertise and funds that help | x 5
start-ups match up to industry standards.

(i1) They expect avery high return on investment.

(iii)Apart from investing funds, most angels provide proactive advice, guidance,
industry connections and mentoring to the start-up in its early days.

(iv)Their objective isto create great companies by providing value creation, and
simultaneously helping investors realise a high return on investments.

(v)They have a sharp inclination to keep abreast of current developments in a
particular business arena, mentoring another generation of entrepreneurs by
making use of their vast experience.

Section D

30 [ Advertising is a paid form of communication designed to persuade potential | 1 5
customers to choose the product or service over that of a competitor.

Four rulesto be considered
Aim - What is the primary purpose of the advertisement? Isit to inform, sell, Yo
produce listings or improve the image of the business? x 4
Target - Who is the target? From which sector of the public are we trying to =
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achieve aresponse? For example, isit male, female, adult, teenager, child,
mother, father etc.

Media — Bearing the aim and target in mind, which are of the media available is
the most suitable—i.e. TV, radio, press or Internet?

Competitors— What are the competitors doing? Which media channel do they
use? Are they successful? Can you improve on their approach and beat them in
competition?

Good advertising generally elicits the following four responses:

Attention — It catches the eye or ear and stands out amid the clutter of Yo
competing advertisements. x 4
Interest — It arouses interest and delivers sufficient impact in the message or =
offering.

Desire— It creates adesire to learn more or crave ownership.

Action — It spurs an action which leads to achievement of the advertisement’s
original objective—i.e. it prompts potential customers to purchase or use your
product or service.

OR

A franchise agreement isthe legal document that binds the franchisor and
franchisee together. This document explains what the franchisor expects from 1 |5
the franchisee in running the business. The agreement is designed to assure that
all of the franchisees within an organization are treated equitably. The
expectations must be uniform throughout the system.

The main ingredients of a franchise agreement:
1. Contract Explanation: The contract explanation is the part of the agreement | 1 x
that outlines the type of relationship afranchisee is entering into with the 4=
franchisor. 4
2. Operations Manual: The operations manual is the section of the agreement
that details the guidelines that the franchisee must legally follow in operating
the business as outlined by the franchisor. From time to time amendments may
be made and the franchisee must be prepared to adjust operations accordingly.
The franchisee needs to be aware that the contents of the document are
confidential.

3. Proprietary Statements: Proprietary statements outline how the franchise
nameisto be used, as well as the marketing and advertising proceduresin place
that the franchisee will be required to follow. Also, the franchisor documents
how much the franchisee will be required to contribute toward national
advertising efforts.

4. Ongoing Site Maintenance: Ongoing site maintenance is another item that is
outlined in the agreement. Included are the types and timeframes regarding
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various maintenance items and upgrades that must be made to the franchisee's
location.

31 | Primary Market- It is a market to facilitate transfer of resources from the | 1 5
savers to the entrepreneurs seeking funds for:
1) Setting new enterprises

2) Expanding

3) Diversifying

Methods of flotation of new issues 1x
An entrepreneur can raise the required capital in the primary market by the 4=
following methods: 4
1. Public issue

2. Rightsissue

3. Private placement
4. Offer to the employees

1. Publicissue/ going public

Public issue is the most popular method of raising capital these days by the
entrepreneurs. Thisinvolves raising of funds directly from the public through
the issue of prospectus. An enterprise organizing itself asa public limited
company can raise the required funds commonly by preparing a prospectus.
When an entrepreneur a offers shares to the public for subscription he/sheis
required to comply with al the restrictions and formalities pertaining to the
initial issues, prospectus drafting and launch.

2. Rightsissue

Rightsissue is amethod of raising additional finance from existing shareholders
by offering securities to them on pro-rata basisi.e. giving them aright to a
certain number of shares in proportion to the shares they are holding. Normally,
through acircular, rights issues are proposed to the existing shareholders and in
case they are not willing to subscribe, they can renounce the same in favour of
another person. This method of issuing securitiesis considered to be
inexpensive as it does not require any brokers, agents, underwriters, prospectus
or enlistment, etc.

3. Private placement

Private placement means the direct sale by a company of its securitiesto a
limited number of sophisticated investors.

4. Offer to employees

Stock options or offering shares to the employees has gained much popularity in
many countries of the world. This method enables employees to become
shareholders and share the profits of the company leading to:

a) Higher efficiency

b) Low labour turnover
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) Better industrial locations
d) Low floatation cost
€) Wider/higher generation of funds.

32 | A company is an association of persons who contribute money in the shape of | 1 5
shares and the company gets alegal entity and enjoys permanent existence.

Features:
(i) Separate legal entity — A company has an independent status, different from | 1 x
its members. 4=

(i) Limited liability — The liability of the shareholders of a company is| 4
normally limited to the amount of shares held or guarantee given by them.

(i) Transferability of shares — Subject to certain conditions, shares are freely
transferable. In a private company there are some restrictions.

(iv)Diffusion of ownership and management — There exists separation of
ownership from management. As the shareholders could be scattered across
country and they give the right to the directors to manage the
company’s affairs.

OR
(b)Benefits of under standing the relevant environment of business are: 5

(i) Identification of opportunitiesto get first mover advantage - By keeping | 5=
in touch with the changes in the external environment, an enterprise can identify | 5
opportunities and find strategies to capitalise on the opportunities at the earliest.
(i1) Formulation of strategies and policies -1t helpsin identifying threats and
opportunities in the market. These can serve as the basis of formulation of
strategies to counter threats and capitalise on opportunitiesin the market.

(iii) Tapping useful resour ces -1f the company has a thorough knowledge of
the external environment, it can tap raw materials, technology and even
financial resources from the market at economical prices, at the right time.

(iv) Better performance - Proper understanding of the various elements of the
external environment is necessary to take timely action to deal with threats and
avail opportunities for the purpose of improvement in the performance of the
firm.

V) Sensitisation of entrepreneursto cope up with rapid changes-A keen
watch on the trends in the environment would hel p sensitise the entrepreneur to
changing technology, competition, government policies and changing needs of
the customers. For example, trends in clothing.

vi) Image building -If acompany is sensitive to the external environment, it
will come out with new products and services to meet the requirements of the
customers. Thiswould build the image or reputation of the firm in the eyes of
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the general public. For example, call-radio taxis with additional features like
GPS systems, online booking etc.
(Any Five)

33 | Full marks may be awarded to all the candidates. 5

[
(63}

34 | (8) Component of Business Plan — Production Plan
Objective — *““Picturising ahead every step in a long series of separate | 1
operations, each step to be taken in the right place, of the right degree and at
the right time, and each operation to be done at maximum efficiency.”’

(b) Three options available before the venture are : 1x
i) No manufacturing involved: If the new venture does not include any | 3=
manufacturing function, say it’s a trading firm or a service provider, and then | 3
this section will stand eliminated from the plan.

ii) Partial manufacturing: If some or al the manufacturing process is to be
subcontracted or outsourced, then the production plan should describe: i) Name
and location of subcontractor(s) ii) Reasons for their selection iii) Cost and time
involved iv) Any contracts that have been completed etc. In such cases, a clear
mention of what entrepreneur intends to do himself and what he plans to get it
done from outside is required.

iii) Complete Manufacturing: If the manufacturing is to be carried out in
whole by the entrepreneur, he/she will need to describe: i) the physical plant
layout, ii) the machinery and equipment required to perform the manufacturing
operations, iii) raw materials and suppliers names, addresses, terms and
conditions, iv) cost of manufacturing v) any future capital equipment required
etc.
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